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There is a *Cool-off time” of 15 minutes in addition to the writing time.

Use the *Cool-off time to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully,

Calculations, figures and graphs should be shown in the answer sheet itself
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall,
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SECTION - A

Answer all questions from 1 to 7. Each carries 1 Score. (Tx1=T)

Which of the following is used to measure the intensity of earthquakes 7
{A) Richter Scale

(B) Graphical Scale

(C) Measuring Scale

(D) Mercalli Scale

The release of moisture in different forms after condensation is known as .

In general, the isotherms are ______-
(A) Parallel to longitude

(B) Parallel to latitude

(C) Perpendicular to latitude

(D) Perpendicular to longitude

The gulf situated between India and Sri Lanka is
Name the long, narrow longitudinal valleys in the Himalayan region.

Which among the following is a major rock forming mineral ?
(A) Pyrite

(B) Sulphate

(C) Calcium carbonate

(D) Quartz

Identify the term that refers to the number and variety of organisms found within a

specified geographic region.
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SECTION-B

Question Nos. 8 — 15. Answer any six. Each carries 2 Scores.

Distinguish between :
(A) Meteorological drought and
(B) Hydrological drought

Define *Atoll’.
Why does the temperature vary with depth in oceans ?

Complete the diagram with appropriate terms :
Solar Energy

|

a 9 ; Secondan 9
: . Consumers
\ —
remains
Soil
MNutrignts l
7

Define the following terms :
(A) Geomorphology
(B) Climatology

(6x2=12)

Sleet and hailstorms are two forms of precipitation, but they differ in their formation.

Clarify.

Enlist the subdivisions of Himalayas on the basis of relief, alignment of ranges and

other geomorphological factors.

Name the rocks which vary in thickness.
Identify the process through which these rocks are formed.

Give example for these rocks.
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SECTION-B
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SECTION-C
Question Nos, 16 — 23. Answer any six. Each carries 3 Scores. (6x3=18)

How is degassing important in the evolution of atmosphere ?

Shown in the diagram are wo intrusive forms of igneous rocks. Identify and distinguish
them.,

Prepare a brief note on the significance of weathering,

What is inversion of temperature ? How far it is helpful for crops ?

Identify the soil which are widespread in the north Indian plains and river valleys.

Describe its formation and characteristics.

Write an explanatory note on global warming.

What are the problems of using river water in India ?

Write the aims of forest policy of India.
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SECTION -C
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SECTION-D

Question Nos. 24-27. Answer any three. Each carries 4 scores.

What is sea-floor spreading ? Write any two factors that have led to the idea of sea-

floor spreading.

Distinguish between :

(A) Semi-diurhal tide and diurnal tide

(B) Spring tide and Neap tide

Complete the following table with one landform in each column :

Landforms
Agent T
Erosional ' Depositional |
Rivers s 2
Glaciers ? ?
Seawaves ? ?
Wind ? ?
E Exosphere ety
4003 T
= ?7—
803 Lo
3 i
E | -
] l!)
g 3 , ! | i
= 4T = = = = (Siratofause ===t ———
£ T T
s __;___,,____l SN T
< i Bi7 !
F— 17 —-
I T D S
E I |L\ i !
1 oL~ ile —|- Tropopausc). = = =
o omp==d Trogopavse . - -
3 { "blt. ? '_'_H-A.._h-‘
i T i LI i L LI I T ﬁ
S100 80 -60 -0 -20 0 20
Temperature (*C)

Observe the above diagram and name the atmospheric layers marked as A, B, C and D.

Prepare note on any one.
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SECTION-D
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SECTION-E

Answer any oune from question Nos. 28 and 29, [t carries 6 Scores,

(1x6=6)
28. Explain the various forces affecting the velocity and direction of wind.
29.  Explain the mechanism of weather in the winter season in India.
SECTION-F
Identify and mark the following on the given outline map of India : (5x1=85)

30. (A) The immt meridian based on which the Indian Standard Time is calculated.
(B) The Co;’aI Island group of India.
(C) The mountain range where the mt, K; is located.
(D) ' The river originating in the Raipur district of Chhattisgarh,

(E) A plateau region bordered by the Western ghats in the West and the Eastern. ghats
in the East,
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SECTION-E
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